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QUESTION 1

How many types of OSPF packets are there? ()
A. 4

B.5

C.3

Correct Answer: C

QUESTION 2

In the RSTP standard, in order to improve the convergence speed, the port that the switch is directly connected to the
terminal can be defined as ()

A. Edge port
B. Root port
C. Fast port
D. Backup port

Correct Answer: A

QUESTION 3

Among the following commands for configuring the default route, the correct one is ()
A. (Huawei) ip route-statiC.0.0.0.0 0.0.0.0 192.168.1.1

B. (Huawei) ip route-statiC.0.0.0.0 0.0.0.0 0.0.0.0

C. (Huawei) ip route-statiC.0.0.0.0 255.255.255.255192.168.1.1

Correct Answer: B

QUESTION 4

The Layer 2 Ethernet switch generates entries in the MAC address table according to the () of the Ethernet frame
received by the port. ()
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A. Source MAC. Address
B. Destination MAC. Address
C. Destination IP address

Correct Answer: B

QUESTION 5

The transport layer protocol has UDP and TCP, but UDP is more reliable than TCP
A. True

B. False

Correct Answer: B
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